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Examples

Substitute one equation into the other, then solve for x, then for y.

1 y=x-1 @ 2 y=3x @ 3 y=2x+1 @
x+2y=4 2x—y=2 x+y=-2
Put @ into . Put @ into . Put @ into @

x+2x—-1)=4 2x— (3x) =2 x+Q2x+1)=-2

X+2x—2=4 —Xx=2 3x+1=-2

3x=6 Sox==2 3x=-3

SX =2 Putx=-21in @ Sox=-l

Putx:Zin@. y=3x-2 Putx:—lin@.
y=2-1 Sy=-0 y=2x=1+1

soy=1 Lx=-2,y=-0 soy=-1

SLox=2,y=1 Lox==1,y=-1

1 Solve these equations.
a x+x+4)=06 b

¢ 4x+2(x-3)=6 d x—-02x-1=4
f
h

2x—(x+3)=5

e 3x—2(x+1)=4
g 2x—302x+5)=-10

2x+Bx—4) =6
—x+2(4x+3)=-8

2 a Substitute y = x + 2 for y in the equation x +y = 10, and solve.
b Substitute y = 2x for y in the equation x —y = 3, and solve.
¢ Substitute y =1 — x for y in the equation x — y = 3, and solve.
d Substitute y = x + 2 for y in the equation x — 2y = -1, and solve.
e Substitute y =x — 1 for y in the equation 2x +y = 14, and solve.
f Substitute y = —x for y in the equation x + 5y = 8, and solve.
g Substitute y =3 — x for y in the equation 5x — 2y = 1, and solve.
h Substitute y = 3x — 7 for y in the equation 4x + 3y = 5, and solve.

i Substitute y = 2x + 8 for y in the equation 3x + 2y = 2, and solve.
j Substitute y = 3x+ 2 for y in the equation 2x — 3y = 8, and solve.

3 Complete the solutions for Question 2 by solving for y also.

Answers can be found in the Interactive Student CD.
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1 a
2 a

c
e
g
i

x=1

b x=8

x+(x+2)=10,x=4
x—(1-x)=3,x=2
2x+(x—-1)=14,x=5
5x—-23-=x)=1,x=1
3x+202x+8)=2,x=-2

y=6
y=2

b y=-6
h y=-1

c x=2

c y=-1

d

y=4

x=-3

o h o o o

—

x=06 f x=2 g

X—2x=3,x=-3
x—2x+2y=-1,x=-3
X+5(x)=8x=-2
4x+303Bx-7)=5,x=2
2x—303x+2)=8,x=-2
y=-1 e y=4
y=—4

X=—

RV

f y=2




